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Chapter 4

THE GLOBAL CONTEXT OF BUSINESS
True/False Questions

Easy Questions

1. High-income countries include the United States, Canada, Japan, and Kuwait.

Answer: True

Level: Easy

Page 110

Reference: Learning Objective 1 / The Major World Marketplaces

2. Low-income countries are often called developing countries.

Answer: True

Level: Easy

Page 110

Reference: Learning Objective 1 / The Major World Marketplaces

3. The United States represents the world’s most stable economy.

Answer: True

Level: Easy

Page 110

Reference: Learning Objective 1 / The Major World Marketplaces

4. The World Trade Organization (WTO) was created to encourage international trade.

Answer: True

Level: Easy

Page 114

Reference: Learning Objective 1 / Trade Agreements

5. When a country’s imports exceed its exports, that country experiences a trade surplus.

Answer: False

Level: Easy

Page 116

Reference: Learning Objective 2 / Import-Export Balances

6. A trade deficit occurs when a nation imports more than it exports.

Answer: True

Level: Easy

Page 116

Reference: Learning Objective 2 / Import-Export Balances

7. Factors of production include labor, capital, entrepreneurs, physical resources, and information resources.

Answer: True

Level: Easy

Page 120

Reference: Learning Objective 2 / Forms of Competitive Advantage

8. In a licensing arrangement, firms choose foreign organizations to manufacture their products in another country in return for a fee plus royalties.

Answer: True

Level: Easy

Page 125

Reference: Learning Objective 3 / International Organization Structures

9. You have given another company in another country the right to produce your company’s product; you are engaging in a licensing arrangement.

Answer: True

Level: Easy

Page 125

Reference: Learning Objective 3 / International Organization Structures

10. Strategic alliances are also called joint ventures.

Answer: True

Level: Easy

Page 126

Reference: Learning Objective 3 / International Organization Structures

11. An import is a product made or grown abroad but sold domestically.

Answer: True

Level: Easy

Page 124

Reference: Learning Objective 3 / Levels of International Involvement

12. Products made domestically but shipped and sold abroad are known as imports.

Answer: False

Level: Easy

Page 124

Reference: Learning Objective 3 / Levels of International Involvement

13. Free market economies often establish some system of quotas and/or tariffs.

Answer: True

Level: Easy

Page 128

Reference: Learning Objective 4 / Legal and Political Differences

14. A tariff is a tax on imported and/or exported products.

Answer: True

Level: Easy

Page 129

Reference: Learning Objective 4 / Legal and Political Differences

15. A subsidy is a government payment to help a domestic business compete.

Answer: True

Level: Easy

Page 129

Reference: Learning Objective 4 / Legal and Political Differences

16. A subsidy is a tax designed to discourage the use of imports.

Answer: False

Level: Easy

Page 129

Reference: Learning Objective 4 / Legal and Political Differences

17. Dumping refers to the practice of selling a product abroad for less than the cost of production.

Answer: True

Level: Easy

Page 130

Reference: Learning Objective 4 / Legal and Political Differences

18. Local content laws guarantee that products sold in a country are at least partly made there.

Answer: True

Level: Easy

Page 130

Reference: Learning Objective 4 / Legal and Political Differences

True/False Questions

Moderate Questions

19. Globalization refers to the process by which countries around the world are becoming more self-sufficient.

Answer: False

Level: Moderate

Page 108

Reference: Learning Objective 1 / The Contemporary Global Economy

Rationale: Globalization refers to the process by which countries are working together interactively to eliminate trade barriers in attempt to create a larger free market.

20. Middle-income countries suffer from low literacy, weak infrastructures, and unstable governments.

Answer: False

Level: Moderate

Page 110

Reference: Learning Objective 1 / The Major World Marketplaces

Rationale: Low-income countries suffer from low literacy, weak infrastructures, and unstable governments.

21. The North American Free Trade Agreement regulates trade between the United States, Canada, and Japan.

Answer: False

Level: Moderate

Page 112–113

Reference: Learning Objective 1 / Trade Agreements

Rationale: NAFTA regulates trade between the United States, Canada, and Mexico.

22. NAFTA created fewer jobs than proponents had predicted.

Answer: True

Level: Moderate

Page 113

Reference: Learning Objective 1 / Trade Agreements

Rationale: NAFTA has created several hundred thousand new jobs, though this number is smaller than proponents of NAFTA had predicted.

23. The General Agreements on Tariffs and Trade opened foreign markets to most financial services.

Answer: False

Level: Moderate

Page 114

Reference: Learning Objective 1 / Trade Agreements

Rationale: The purpose of GATT is to eliminate trade barriers.

24. The primary purpose of the World Trade Organization is to impose tariffs on imported products.

Answer: False

Level: Moderate

Page 114

Reference: Learning Objective 1 / Trade Agreements

Rationale: The WTO is empowered to promote trade by encouraging members to adopt fair trade practices, reduce trade barriers by promoting multilateral agreements, and to establish fair procedures for resolving disputes among members.

25. The purpose of the General Agreement on Tariffs and Trade is to reduce trade barriers.

Answer: True

Level: Moderate

Page 114

Reference: Learning Objective 1 / Trade Agreements

Rationale: GATT’s purpose is to reduce or eliminate trade barriers, such as tariffs and quotas; it does so by encouraging nations to protect domestic industries within agreed-upon limits and to engage in multilateral negotiations.

26. The United States exports more to the Netherlands than it imports from the Netherlands. As such, the United States has a trade deficit with the Netherlands.

Answer: False

Level: Moderate

Page 116

Reference: Learning Objective 2 / Import-Export Balances

Rationale: The United States does export more to the Netherlands than what it imports from the Netherlands; however, this is known as a trade surplus or a favorable balance of trade.

27. Today, fixed exchange rates are the norm for most major nations of the world.

Answer: False

Level: Moderate

Page 119

Reference: Learning Objective 2 / Exchange Rates

Rationale: Floating exchange rates are the norm for most major nations of the world.

28. South Africa produces diamonds more cheaply and of higher quality than any other country; this is an example of absolute advantage.

Answer: True

Level: Moderate

Page 120

Reference: Learning Objective 2 / Forms of Competitive Advantage

Rationale: An absolute advantage is when a country can produce something that is cheaper and/or of higher quality than any other country.

29. A comparative advantage exists when a country can produce something more cheaply and/or of higher quality than any other country.

Answer: False

Level: Moderate

Page 120

Reference: Learning Objective 2 / Forms of Competitive Advantage

Rationale: A country has a comparative advantage in goods that it can produce more efficiently or better than other goods.

30. Saudi Arabian oil is an example of an absolute advantage.

Answer: True

Level: Moderate

Page 120

Reference: Learning Objective 2 / Forms of Competitive Advantage

Rationale: An absolute advantage exists when a country can produce something that is cheaper and/or of higher quality than any other country.

31. Products that are successful in one country may be useless in another.

Answer: True

Level: Moderate

Page 122

Reference: Learning Objective 3 / Going International

Rationale: For example, snowmobiles are popular for transportation and recreation in Canada and actually revolutionized reindeer herding in Lapland, but there is no demand for them in Central America. 

32. One very large category of U.S. products that travels well is American popular culture. 

Answer: True

Level: Moderate

Page 123

Reference: Learning Objective 3 / Going International

Rationale: Popular culture includes movies, TV shows, music and fashion, which have grown in popularity in the global marketplace over the past several years.

33.  An importer is a firm that makes products in one country and then distributes and sells them in others.

Answer: False

Level: Moderate

Page 124

Reference: Learning Objective 3 / Levels of International Involvement

Rationale: An importer buys products in foreign markets and imports them for resale at home.

34. Many large firms entered international business as exporters; Coke is an example.

Answer: True

Level: Moderate

Page 124

Reference: Learning Objective 3 / Levels of International Involvement

Rationale: IBM is also a cited textbook example of one of the many firms that entered the international marketplace as exporters.

35. International firms are those that conduct business abroad with most focus being on business here in this country.

Answer: True

Level: Moderate

Page 124

Reference: Learning Objective 3 / Levels of International Involvement

Rationale: This comparison is often made with multinational firms, which are firms that design, produce, and market products in many nations.

36. Strategic alliances give firms greater control over foreign activities than agents and licensees.

Answer: True

Level: Moderate

Page 126

Reference: Learning Objective 3 / International Organization Structures

Rationale: Because a representative of the company tends to be present, strategic alliances give firms greater control over foreign activities than agents or licensees.

37. The ultimate form of a quota is a tariff.

Answer: False

Level: Moderate

Page 128–129

Reference: Learning Objective 4 / Legal and Political Differences

Rationale: The ultimate form of a quota is an embargo.

38. Revenue tariffs are primarily designed to discourage the importation of foreign products.

Answer: False

Level: Moderate

Page 129

Reference: Learning Objective 4 / Legal and Political Differences

Rationale: Revenue tariffs are primarily designed to raise money for governments.

39. Critics of protectionism charge that it drives up prices by reducing competition.

Answer: True

Level: Moderate

Page 130

Reference: Learning Objective 4 / Legal and Political Differences

Rationale: Critics of protectionism charge that it drives up prices by reducing competition.

40. Dumping and cartels are both illegal in the United States.

Answer: True

Level: Moderate

Page 130

Reference: Learning Objective 4 / Legal and Political Differences

Rationale: Dumping, cartels, and bribery are all illegal according to U.S. law.

True/False Questions

Difficult Questions

41. The single largest trading partner of the United States is China.

Answer: False

Level: Difficult

Page 110

Reference: Learning Objective 1 / The Major World Marketplaces

Rationale: The single largest trading partner of the United States is Canada.

42. A majority of U.S. imports come from Canada, Japan, Mexico, and China.

Answer: True

Level: Difficult

Page 110–111

Reference: Learning Objective 1 / The Major World Marketplaces

Rationale: These countries are listed on the U.S. list of top 10 importers.

43. Since the creation of NAFTA, U.S. exports to Mexico have increased, several hundred thousand new jobs have been created, and Mexico has passed Japan as the second-largest buyer of U.S. goods.

Answer: True

Level: Difficult

Page 113

Reference: Learning Objective 1 / Trade Agreements

Rationale: Many NAFTA critics argued that these statistics would not be realized; however, since the creation of NAFTA, the North American marketplace has experienced several positive shifts.

44. The United States has large trade deficits with Japan, China, and Mexico; this means that the United States has imported more from them than what they have purchased from us.

Answer: True

Level: Difficult

Page 116

Reference: Learning Objective 2 / Import-Export Balances

Rationale: A trade deficit, or an unfavorable balance of trade, occurs when a country’s imports exceed its exports.

45. If 1 euro = $1.35 on June 4 and $1.40 on June 5, the value of the dollar has risen.

Answer: False

Level: Difficult

Page 119

Reference: Learning Objective 2 / Exchange Rates

Rationale: If the value of the dollar had risen, the euro would have been worth less. Since the value of the dollar had fallen in this example, it would have hypothetically taken more U.S. dollars to buy a “euro’s worth” of goods.

46. Fluctuations in the exchange rate have little influence on the balance of trade.

Answer: False

Level: Difficult

Page 119

Reference: Learning Objective 2 / Exchange Rates

Rationale: When the value of a country’s currency rises, companies based there find it harder to export products to foreign markets and easier for foreign companies to enter local markets.

47. When all conditions for national competitive advantage exist, a nation is least likely to do international business.

Answer: False

Level: Difficult

Page 121

Reference: Learning Objective 2 / Forms of Competitive Advantage

Rationale: When all conditions for national competitive advantage exist, as indicated in the “national diamond,” a nation is most likely to do international business.

48. A licensing arrangement is a cooperative partnership in which firms choose foreign individuals to manufacture or market their products in another country.

Answer: True

Level: Difficult

Page 125

Reference: Learning Objective 3 / International Organization Structures

Rationale: A licensing arrangement is an arrangement in which firms choose foreign individuals or organizations to manufacture or market their products in another country.

49. The number of strategic alliances among major companies has decreased significantly over the last decade.

Answer: False

Level: Difficult

Page 126

Reference: Learning Objective 3 / International Organization Structures

Rationale: The number of strategic alliances among major companies has increased over the last decade.

50. In some countries, laws make strategic alliances virtually the only way to do international business.

Answer: True

Level: Difficult

Page 126

Reference: Learning Objective 3 / International Organization Structures

Rationale: In some countries, a foreign country must “enter” that market by way of a strategic alliance or some other business partnership.

Multiple Choice Questions

Easy Questions

51. Benefits to globalization include _____.

a. potential for higher standards of living

b. improved business profitability

c. obtaining cheaper resources

d. all of the above

Answer: d

Level: Easy

Page 109

Reference: Learning Objective 1 / The Contemporary Global Economy

52. Products created abroad and then transported and sold domestically are called _____.

a. subsidies 

b. exports
c. imports
d. buy backs
Answer: c

Level: Easy

Page 109

Reference: Learning Objective 1 / The Contemporary Global Economy

53. Products created domestically and transported for sale abroad are called _____.

a. exports

b. imports
c. returns
d. quotas
Answer: a

Level: Easy

Page 109

Reference: Learning Objective 1 / The Contemporary Global Economy

54. Developing countries are also called _____.

a. viral marketers

b. low middle-income countries

c. geographic clusters

d. low-income countries

Answer: d

Level: Easy

Page 110

Reference: Learning Objective 1 / The Major World Marketplaces

55. Which country represents the world’s most stable economy?

a. the United States 

b. Canada

c. Germany

d. Japan

Answer: a

Level: Easy

Page 110

Reference: Learning Objective 1 / The Major World Marketplaces

56. Which country dominates the Pacific Asia region economically?

a. South Korea

b. China

c. Japan

d. Taiwan

Answer: c

Level: Easy

Page 112

Reference: Learning Objective 1 / The Major World Marketplaces

57. Which organization most likely has the greatest impact on Asian countries?

a. ASEAN

b. EU

c. NAFTA

d. ECOWAS

Answer: a

Level: Easy

Page 114

Reference: Learning Objective 1 / Trade Agreements

58. A nation’s _____ is the economic value of all of the products that a company exports minus the economic value of its imports.

a. standard of living

b. balance of trade

c. balance of payments

d. national debt

Answer: b

Level: Easy

Page 115

Reference: Learning Objective 2 / Import-Export Balances

59. When a country’s imports exceed its exports, the nation has a _____.

a. balance of payments

b. trade deficit

c. competitive advantage

d. trade surplus

Answer: b

Level: Easy

Page 116

Reference: Learning Objective 2 / Import-Export Balances

60. When a country’s exports exceed its imports, the nation has a _____.
a. trade surplus

b. trade deficit

c. negative balance of trade

d. A and C

Answer: a

Level: Easy

Page 116

Reference: Learning Objective 2 / Import-Export Balances

61. The flow of money into or out of a country is referred to as the _____.

a. trade deficit

b. balance of payments

c. monetary policy

d. comparative advantage

Answer: b

Level: Easy

Page 117

Reference: Learning Objective 2 / Import-Export Balances

62. The money that a nation pays for imports and receives for exports is a part of that nation’s _____.

a. balance of payments

b. positive balance of trade

c. trade deficit

d. monetary policy

Answer: a

Level: Easy

Page 117

Reference: Learning Objective 2 / Import-Export Balances

63. With a(n) _____ exchange rate, the value of a country’s currency remains constant relative to that of another country.

a. floating

b. indexed

c. fixed

d. adjusted

Answer: c

Level: Easy

Page 119

Reference: Learning Objective 2 / Exchange Rates

64. When the value of one country’s currency relative to that of another varies with market conditions, which of the following exists? 

a. floating exchange rate

b. fixed exchange rate

c. negative balance of trade

d. international exchange rate

Answer: a

Level: Easy

Page 119

Reference: Learning Objective 2 / Exchange Rates

65. The _____ is the rate at which the currency of one nation can be exchanged for that of another.

a. balance of payments

b. exchange rate

c. floating interest rate

d. trade surplus

Answer: b

Level: Easy

Page 119

Reference: Learning Objective 2 / Exchange Rates

66. An exchange rate _____.

a. is the rate at which the currency of one nation can be exchanged for that of another

b. has little impact on balance of trade

c. tends to be fixed between two countries

d. tends to fluctuate a great deal on a daily basis

Answer: a

Level: Easy

Page 119

Reference: Learning Objective 2 / Exchange Rates

67. A firm that makes products in one country and then distributes and sells them in others is a(n) _____.

a. importer

b. exporter

c. multinational firm

d. financier

Answer: b

Level: Easy

Page 124

Reference: Learning Objective 3 / Levels of International Involvement

68. Which of the following buys products in foreign markets and then sells them for resale in its home country?

a. importer

b. exporter

c. international firm

d. direct investor

Answer: a

Level: Easy

Page 124

Reference: Learning Objective 3 / Levels of International Involvement

69. Which of the following type of firm conducts a significant portion of its business abroad? 

a. an importer

b. an exporter

c. an international firm

d. a domestic firm

Answer: c

Level: Easy

Page 124

Reference: Learning Objective 3 / Levels of International Involvement

70. Which of the following international organization strategies consists of firms giving individuals or companies in a foreign country exclusive rights to manufacture or market their products in that market?

a. licensing arrangements

b. independent agents

c. branch offices

d. strategic alliances

Answer: a

Level: Easy

Page 125

Reference: Learning Objective 3 / Levels of International Involvement

71. ABC Company in the United States has given exclusive rights to XYZ Company in Switzerland to manufacture its products. This is an example of _____.

a. foreign direct investment

b. a licensing arrangement

c. a strategic alliance

d. an import-export relationship

Answer: b

Level: Easy

Page 125

Reference: Learning Objective 3 / International Organization Structures

72. Ford purchased Volvo. What does this illustrate?

a. social responsibility

b. licensing arrangement

c. foreign direct investment

d. strategic alliance

Answer: c

Level: Easy

Page 126

Reference: Learning Objective 3 / Levels of International Involvement

73. The ABC Paint Company in the United States has joined forces with the 1-2-3 Plastics Company in Italy to create a non-pealing, plastics-based paint. Both companies intend to share the research costs and any profits. This is an example of _____.

a. a licensing arrangement

b. viral marketing

c. a strategic alliance

d. foreign direct investment

Answer: c

Level: Easy

Page 126

Reference: Learning Objective 3 / Levels of International Involvement

74. A company sending some of its own managers overseas to conduct business in a local office is practicing the international organization strategy of _____.

a. joint venture arrangements

b. strategic alliances

c. direct investment

d. branch offices

Answer: d

Level: Easy

Page 126

Reference: Learning Objective 3 / International Organization Structures

75. _____ is the international organization strategy of finding a partner in the country in which a business would like to conduct business.

a. Opening a branch office

b. Developing a strategic alliance

c. Forming an independent agency

d. Creating a direct investment

Answer: b

Level: Easy

Page 126

Reference: Learning Objective 3 / International Organization Structures

76. Which of the following international organizational strategies means buying or establishing tangible assets in another country?

a. independent agency

b. direct investment

c. opening branch offices

d. forming strategic alliances

Answer: b

Level: Easy

Page 126

Reference: Learning Objective 3 / International Organization Structures

77. Which of the following restricts the number of products of a certain type that can be imported into a country?

a. tariff

b. local governments

c. subsidy

d. quota

Answer: d

Level: Easy

Page 128

Reference: Learning Objective 4 / Legal and Political Differences

78. A government order forbidding exportation and/or importation of a particular product from a particular country is called a(n) _____.

a. tariff

b. embargo

c. local content law

d. quota

Answer: b

Level: Easy

Page 129

Reference: Learning Objective 4 / Legal and Political Differences

79. Which of the following is a tax on imported goods or products?

a. quota

b. subsidy

c. local government action

d. tariff

Answer: d

Level: Easy

Page 129

Reference: Learning Objective 4 / Legal and Political Differences

80. Which of the following is a government payment to help a domestic business compete with foreign firms?

a. revenue tariff

b. protectionist tariff

c. embargo

d. subsidy

Answer: d

Level: Easy

Page 129

Reference: Learning Objective 4 / Legal and Political Differences

81. Protecting domestic business at the expense of free market competition is _____.

a. local content laws

b. imposing quotas

c. protectionism

d. adding tariffs

Answer: c

Level: Easy

Page 129

Reference: Learning Objective 4 / Legal and Political Differences

82. A subsidy is a _____.

a. tax

b. payment

c. product

d. global competitor

Answer: b

Level: Easy

Page 129

Reference: Learning Objective 4 / Legal and Political Differences

83. Restricting the number of Japanese cars imported into the United States is an example of a(n) _____.

a. protectionist tariff

b. quota

c. licensing arrangement

d. embargo

Answer: b

Level: Easy

Page 129

Reference: Learning Objective 4 / Legal and Political Differences

84. Many countries require that products sold in a particular country be at least partly made there. This practice is referred to as _____.

a. protectionism

b. local content laws

c. business practice laws

d. subsidizing an industry

Answer: b

Level: Easy

Page 130

Reference: Learning Objective 4 / Legal and Political Differences

85. Associations of producers that control supply and prices are called _____.

a. independent agents

b. cartels

c. business offices

d. dumpers

Answer: b

Level: Easy

Page 130

Reference: Learning Objective 4 / Legal and Political Differences

86. Selling a product abroad for less than the cost of production is called _____.

a. setting up a business office

b. dumping

c. imposing tariffs

d. direct foreign investment

Answer: b

Level: Easy

Page 130

Reference: Learning Objective 4 / Legal and Political Differences

Multiple Choice Questions

Moderate Questions

87. Which organization created the classification of countries based on per capita income?

a. World Bank

b. World Trade Organization

c. EU

d. GATT

Answer: a

Level: Moderate

Page 110

Reference: Learning Objective 1 / Trade Agreements

Rationale: The World Bank, an agency of the United Nations, uses per capita income to make distinctions among countries.

88. The world’s largest national marketplace is _____.

a. the United States

b. Germany

c. China

d. India

Answer: a

Level: Moderate

Page 110

Reference: Learning Objective 1 / The Major World Marketplaces

Rationale: The United States is the world’s largest marketplace and most stable economy.

89. Which of the following countries is not considered a part of Pacific Asia?

a. South Korea

b. Saudi Arabia

c. China

d. Indonesia

Answer: b

Level: Moderate

Page 112

Reference: Learning Objective 1 / The Major World Marketplaces

Rationale: Pacific Asia includes Japan, China, Thailand, Malaysia, Singapore, Indonesia, South Korea, Taiwan, and the Philippines.

90. Which of the following is NOT a major world economic marketplace?

a. North America

b. Europe

c. Pacific Asia

d. Latin America

Answer: d

Level: Moderate

Page 110-112

Reference: Learning Objective 1 / The Major World Marketplaces

Rationale: Major marketplaces include North America, Europe, and Pacific Asia.

91. The world’s third largest economy, behind that of the United States and Japan, is _____.

a. China

b. India

c. Brazil

d. Russia

Answer: a

Level: Moderate

Page 112

Reference: Learning Objective 1 / The Major World Marketplaces

Rationale: China is the world’s most densely populated country and has emerged as the world’s third-largest economy.

92. Under _____, Canada, the United States, and Mexico will gradually eliminate tariffs and all other trade barriers.

a. the EURO Agreement

b. the Pan-American Agreement

c. NAFTA

d. CMA

Answer: c

Level: Moderate

Page 112

Reference: Learning Objective 1 / Trade Agreements

Rationale: Some barriers came down in 1994; others were removed in 1999 and 2004. Remaining barriers will come down in 2009.

93. What organization was founded in Pacific Asia in 1967 for economic, political, social, and cultural cooperation?

a. SEATO

b. ASEAN

c. CENTO

d. Warsaw Pact 
Answer: b

Level: Moderate

Page 114

Reference: Learning Objective 1 / Trade Agreements

Rationale: Today, the Association of Southeast Asian Nations (ASEAN) includes a population of 500 million and a GDP of $800 billion.

94. The _____ sought to eliminate trade barriers such as tariffs and quotas.

a. North American Free Trade Agreement (NAFTA)

b. Fair Labor Standards Act (FLSA)

c. General Agreement on Tariffs and Trade (GATT)

d. European Union (EU)

Answer: c

Level: Moderate

Page 114

Reference: Learning Objective 1 / Trade Agreements

Rationale: GATT’s purpose is to reduce or eliminate trade barriers by encouraging nations to protect domestic industries within agreed-upon limits and to engage in multilateral negotiations.

95. What is the goal of the World Trade Organization?

a. to promote trade by encouraging nations to adopt fair trade policies

b. to reduce trade barriers by promoting negotiations among member nations

c. to establish fair procedures for resolving disputes among member nations

d. all of the above

Answer: d

Level: Moderate

Page 114

Reference: Learning Objective 1 / Trade Agreements

Rationale: The WTO is empowered to pursue these three goals; all member countries are required to open markets to international trade.

96. The _____ is an organization that encourages its 149 member nations to negotiate trade agreements and resolve disputes about trade policies and practices.

a. United Nations

b. League of Nations

c. Import-Export Bank

d. World Trade Organization

Answer: d

Level: Moderate

Page 114

Reference: Learning Objective 1 / Trade Agreements

Rationale: All member countries must work to adopt fair trade practices, promote multilateral agreements, and resolve disputes among members.

97. Many of the 10 largest export markets for the United States are _____.

a. low-income countries

b. low middle-income countries

c. also mostly the 10 largest import markets for the United States

d. not exporters themselves

Answer: c

Level: Moderate

Page 115-116

Reference: Learning Objective 2 / Import-Export Balances

Rationale: The 10 largest export markets for the United States are also on the list of the country’s 10 largest import markets.

98. Which of the following best describes a positive trade balance?

a. the economic condition where a country’s exports exceed its imports

b. the economic condition where a country’s imports exceed its exports

c. the economic condition where economic resources are in abundance

d. none of the above

Answer: a

Level: Moderate

Page 115

Reference: Learning Objective 2 / Import-Export Balances

Rationale: This is also known as a trade surplus.

99. The value of Country X’s imports is greater than the value of its exports. Country X has a ______.

a. trade surplus

b. trade deficit

c. negative balance of trade

d. B and C

Answer: d

Level: Moderate

Page 116

Reference: Learning Objective 2 / Import-Export Balances

Rationale: A trade deficit occurs when the value of a country’s imports exceeds the value of its exports. This is referred to as a negative balance of trade; there is more money flowing out of the country in the form of payments for the imports than what is flowing into the country in the form of payments for the exports.

100. Which of the following is included in the balance of payments?

a. money paid for imports

b. money paid for exports

c. money spent on foreign aid

d. all of the above

Answer: d

Level: Moderate

Page 117-118

Reference: Learning Objective 2 / Import-Export Balances

Rationale: Balance of payments refers to the flow of money into or out of a country; this includes money paid for imports and exports, money spent on foreign aid, and so on.

101. The _____ is the common currency for much of the European Union.

a. yen

b. pound
c. euro
d. franc
Answer: c

Level: Moderate

Page 119

Reference: Learning Objective 2 / Exchange Rates

Rationale: Denmark, Sweden, and the United Kingdom currently do not participate in using the euro.

102. The value of the U.S. dollar relative to the value of the British pound fluctuates with market conditions. What is this type of exchange rate?

a. floating

b. fixed

c. indexed

d. adjusted

Answer: a

Level: Moderate

Page 119

Reference: Learning Objective 2 / Exchange Rates

Rationale: Floating exchange rates fluctuate according to changes in the market.

103. The vineyards of France produce the world’s finest wines. This is an example of _____.

a. viral marketing

b. national competitive advantage

c. comparative advantage

d. absolute advantage

Answer: d

Level: Moderate

Page 120

Reference: Learning Objective 2 / Forms of Competitive Advantage

Rationale: An absolute advantage exists when a country can produce something that is cheaper and/or or high quality than any other country can.

104. Country Z can produce pig iron more efficiently than any other goods. Country Z has a _____ in pig iron.

a. absolute advantage

b. national competitive advantage

c. comparative advantage

d. monopolistic advantage

Answer: c

Level: Moderate

Page 120

Reference: Learning Objective 2 / Forms of Competitive Advantage

Rationale: When a country can produce a good more efficiently than it can produce any other good, that country is said to have a comparative advantage in that efficiently produced good.

105. Which of the following exists when a country can produce something more cheaply and/or of higher quality than any other country can?

a. balance of payments

b. national competitive advantage
c. absolute advantage
d. comparative advantage
Answer: c

Level: Moderate

Page 120

Reference: Learning Objective 2 / Forms of Competitive Advantage

Rationale: An absolute advantage, though rare, exists when a country can produce something more cheaply and/or of higher quality than any other country can.

106. Saudi oil, Brazilian coffee beans, and Canadian timber are cited as examples of _____.

a. national competitive advantages

b. monopoly power
c. comparative advantages
d. absolute advantages
Answer: d

Level: Moderate

Page 120

Reference: Learning Objective 2 / Forms of Competitive Advantage

Rationale: An absolute advantage exists when a country can produce something more cheaply and/or of higher quality than any other country can.

107. A country has a(n) _____ in goods it can produce more efficiently than other goods.

a. absolute advantage

b. national competitive advantage
c. monopolistic advantage
d. comparative advantage
Answer: d

Level: Moderate

Page 120

Reference: Learning Objective 2 / Forms of Competitive Advantage

Rationale: A country has a comparative advantage in goods it can produce more efficiently than other goods.

108. Which of the following is NOT an attribute of national competitive advantage?

a. factor conditions

b. weather conditions
c. demand conditions
d. related and supporting industries
Answer: b

Level: Moderate

Page 120

Reference: Learning Objective 2 / Forms of Competitive Advantage

Rationale: A national competitive advantage derives from factor conditions, demand conditions, related and supporting industries, and strategies, structures, and rivalries.

109. Which form of competitive advantage tends to focus on natural resources and labor costs?

a. licensing arrangements

b. national competitive advantage

c. comparative advantage

d. absolute advantage

Answer: b

Level: Moderate

Page 120

Reference: Learning Objective 2 / Forms of Competitive Advantage

Rationale: The view of national competitive advantage emerged because of its narrow focus on natural resources and labor costs.

110. National competitive advantage derives from four conditions. One of those conditions includes factor conditions. What do factor conditions include?

a. customers, suppliers, and labor

b. product quality, productivity, and profits

c. labor, capital, and materials

d. strategies, structures, and rivalries

Answer: c

Level: Moderate

Page 120

Reference: Learning Objective 2 / Forms of Competitive Advantage

Rationale: Factors conditions or factors of production, including labor, capital, and materials.

111. Which of the following types of firms have planning and decision-making functions that are geared to international markets?

a. multinational firms

b. importing firms
c. domestic firms
d. exporting firms
Answer: a

Level: Moderate

Page 124

Reference: Learning Objective 3 / Levels of International Involvement

Rationale: Multinational firms design, produce and market product in many countries; in addition, headquarters locations are almost irrelevant.

112. To avoid transportation costs and tariffs, Apics Enterprises gave exclusive rights to Svenson AB in Finland to produce its product. What does this illustrate?

a. licensing arrangement

b. strategic alliance

c. independent agent

d. branch office

Answer: a

Level: Moderate

Page 125

Reference: Learning Objective 3 / Levels of International Involvement

Rationale: In licensing arrangements, firms give foreign companies exclusive rights to manufacture or market their products in that market.

113. Which of the following is NOT considered an international organizational structure?

a. independent agents

b. licensing arrangements

c. branch office

d. exporters

Answer: d

Level: Moderate 

Page 125-126, 132

Reference: Learning Objective 3 / International Organizational Structures

Rationale: International organization structures include independent agents, licensing arrangements, branch offices, strategic alliances, and foreign direct investment.

114. Which of the following international organizational strategies often represents several firms at once and does not specialize in a particular product or market?

a. licensing arrangement

b. independent agent

c. branch office

d. strategic alliance

Answer: b

Level: Moderate

Page 125

Reference: Learning Objective 3 / International Organizational Structures

Rationale: Independent agents act as sales representatives that represent many exporters in foreign markets.

115. Which of the following types of payments are usually received by an exporter as an ongoing payment calculated as a percentage of the license holder’s sales?

a. flat fees

b. royalties

c. agent fees

d. direct investments

Answer: b

Level: Moderate

Page 125

Reference: Learning Objective 3 / International Organizational Structures

Rationale: The exporter receives a fee plus ongoing payments, or royalties, calculated as a percentage of the license holder’s sales.

116. Which statement is true regarding independent agents?

a. They represent one firm at a time.

b. They usually specialize in a particular product.

c. They act as sales representatives.

d. They act as sales representatives but do not monitor or address customer satisfaction.

Answer: c

Level: Moderate

Page 125

Reference: Learning Objective 3 / International Organizational Structures

Rationale: Independent agents act as sales representatives, representing many exporters in foreign markets.

117. A strategic alliance may also be referred to as a _____.

a. branch office

b. joint venture

c. tying contract

d. consolidation

Answer: b

Level: Moderate

Page 126

Reference: Learning Objective 3 / International Organizational Structures

Rationale: Strategic alliances are also known as joint ventures.

118. In which international organization structure does a firm have greater control over foreign activities?

a. exporting

b. strategic alliances

c. licensing arrangements

d. agents

Answer: b

Level: Moderate

Page 126

Reference: Learning Objective 3 / International Organizational Structures

Rationale: Strategic alliances give firms greater control over foreign activities than agents and licensees.

119. Which global arrangement most closely represents a partnership?

a. exporting

b. licensing arrangement

c. strategic alliance

d. enterprise resource planning (ERP)

Answer: c

Level: Moderate

Page 126

Reference: Learning Objective 3 / Levels of International Involvement

Rationale: Strategic alliances have emerged as partnerships that are playing increasingly important roles in the strategies of major companies.

120. A firm may have more direct control with a _____ than with a(n) _____.

a. licensing arrangement; foreign direct investment

b. branch office; licensing arrangement

c. branch office; independent agent

d. B and C

Answer: d

Level: Moderate

Page 126

Reference: Learning Objective 3 / Levels of International Involvement

Rationale: A firm may send its own manages to overseas branch offices, where is has more control that it does over agents or license holders.

121. Imports of Canadian timber are limited to 14.7 billion board feet per year. This is an example of a(n) _____.

a. tariff

b. embargo

c. subsidy

d. quota

Answer: d

Level: Moderate

Page 128-129

Reference: Learning Objective 4 / Legal and Political Differences

Rationale: A quota restricts the number of products of a certain type that can be imported.

122. The United States government forbids the importation of cigars from Cuba into the United States. This government order is known as a(n) _____.

a. embargo

b. tariff

c. subsidy

d. local content law

Answer: a

Level: Moderate

Page 129

Reference: Learning Objective 4 / Legal and Political Differences

Rationale: An embargo is a government order forbidding exportation/importation of certain products.

123. Which of the following types of tariff is meant to discourage the import of particular products?

a. revenue tariff

b. quota tariff

c. subsidy tariff

d. protectionist tariff

Answer: d

Level: Moderate

Page 129

Reference: Learning Objective 4 / Legal and Political Differences

Rationale: Protectionist tariffs discourage particular imports.

124.  Tariffs that are imposed strictly to raise money for the government are _____.

a. revenue tariffs

b. quota tariffs

c. subsidy tariffs

d. union tariffs

Answer: a

Level: Moderate

Page 129

Reference: Learning Objective 4 / Legal and Political Differences

Rationale: Revenue tariffs raise money for the government.

125. The U.S. government requires that the U.S. Air Force buy all of its planes from U.S. manufacturers. In this case, protectionism is justified based on _____.

a. protecting businesses from foreign competition

b. national security interests
c. political differences
d. protection of domestic jobs
Answer: b

Level: Moderate

Page 129

Reference: Learning Objective 4 / Legal and Political Differences

Rationale: Supporters of protectionism contend that such measures are needed to counter steps taken by other nations and to protect national security.

126. Which of the following is illegal in the United States?

a. dumping

b. cartels

c. dumping but not cartels

d. both dumping and cartels

Answer: d

Level: Moderate

Page 130

Reference: Learning Objective 4 / Legal and Political Differences

Rationale: Dumping and cartels are both illegal in the United States.
127. In some South American countries, it is sometimes legal to bribe other businesses and government officials, while this practice is illegal in the United States. This barrier to international trade is known as _____.

a. protectionism

b. business practice laws
c. quotas
d. local content laws
Answer: b

Level: Moderate

Page 130

Reference: Learning Objective 4 / Legal and Political Differences

Rationale: Every country has its own business practice laws by which they govern business practices.

128. The Oil Producing and Exporting Countries (OPEC) is an example of a _____.

a. foreign direct investment

b. cartel

c. quota

d. subsidy

Answer: b

Level: Moderate

Page 130

Reference: Learning Objective 4 / Legal and Political Differences

Rationale: A cartel is an association of producers that control supply and prices.

129. A main purpose of tariffs on imports is to _____.

a. maintain domestic competitiveness

b. increase imports

c. stabilize foreign currencies

d. promote free trade

Answer: a

Level: Moderate

Page 129

Reference: Learning Objective 4 / Legal and Political Differences

Rationale: Most tariffs are meant to discourage particular imports.

130. The United States has current embargoes against _____and _____.

a. Iraq; Afghanistan

b. Cuba; Libya

c. Cuba; North Korea

d. England; France

Answer: b

Level: Moderate

Page 129

Reference: Learning Objective 4 / Legal and Political Differences

Rationale: Because the United States has embargoes against Cuba and Libya, U.S. firms cannot invest in those countries and their products cannot be sold to the United States.

131. Assume that the United States requires that products sold here be at least 51 percent made here. This would be an example of a _____.

a. business practice law

b. cartel

c. strategic alliance

d. local content law

Answer: d

Level: Moderate

Page 130

Reference: Learning Objective 4 / Legal and Political Differences

Rationale: Local content laws are requirements that products sold in a country be at least partly made there.

132. China and India require that when foreign firms enter into joint ventures with local firms, the local partners must have the controlling ownership stake. What does this illustrate?

a. local content laws

b. business ethics

c. tariffs

d. social responsibility

Answer: a

Level: Moderate

Page 130

Reference: Learning Objective 4 / Legal and Political Differences

Rationale: Local content laws are requirements that products sold in a country be at least partly made there.

133. In Germany, Wal-Mart has been required to buy existing retailers rather than open brand-new stores. What does this illustrate?

a. local content laws

b. viral marketing

c. licensing arrangements

d. business practice laws

Answer: d

Level: Moderate

Page 130

Reference: Learning Objective 4 / Legal and Political Differences

Rationale: Host countries govern business practices within their jurisdictions through various business practice laws.

Multiple Choice Questions

Difficult Questions

134. Which of the following countries is NOT identified as a high-income country?

a. United States

b. South Korea

c. China

d. Israel

Answer: c

Level: Difficult

Page 110

Reference: Learning Objective 1 / The Major World Marketplaces

Rationale: High-income countries include the U.S., Canada, most of Europe, Australia, New Zealand, Japan, South Korea, Kuwait, the United Arab Emirates, Israel, Singapore, and Taiwan.

135. Which of the following is identified as a low-income nation?

a. Vietnam

b. Great Britain 

c. Kuwait

d. New Zealand

Answer: a

Level: Difficult

Page 110

Reference: Learning Objective 1 / The Major World Marketplaces

Rationale: Low-income countries include Cambodia, Guatemala, Haiti, and Vietnam.

136. The World Bank uses _____ to make distinctions among countries.

a. population figures

b. industrial capacity

c. per capita income

d. literacy levels

Answer: c

Level: Difficult

Page 110

Reference: Learning Objective 1 / The Major World Marketplaces

Rationale: The World Bank, a U. N. agency, uses per capita income to distinguish among countries, classifying countries into one of four clusters.

137. Members of the European Union have _____.

a. set uniform quotas and tariff levels

b. set uniform quotas and eliminated tariffs

c. eliminated most quotas and tariffs

d. eliminated most quotas and set uniform tariff levels

Answer: d

Level: Difficult

Page 113

Reference: Learning Objective 1 / Trade Agreements

Rationale: EU members have eliminated most quotas and set uniform tariff levels.

138. According to the authors of your textbook, since its founding, NAFTA has resulted in _____.

a. an increase in U.S. exports to Mexico and Canada and a decrease in U.S. imports from Mexico and Canada

b. an increase in U.S. exports to Mexico and Canada and an increase in U.S. imports from Mexico and Canada.

c. an increase in U.S. exports to Mexico, a decrease in U.S. exports to Canada, and a decrease in imports from Mexico and Canada.

d. a decrease in U.S. exports to Mexico and Canada and a decrease in imports from Mexico and Canada.

Answer: b

Level: Difficult

Page 113

Reference: Learning Objective 1 / Trade Agreements

Rationale: NAFTA has created a more active North American market.

139. Which of the following resulted from NAFTA?

a. Companies from other countries, such as Japan, have made fewer business investments in North America.

b. U.S. exports to Mexico have increased.

c. More jobs have been created than what was originally hoped.

d. As predicted, a flood of U.S. jobs was lost to Mexico.

Answer: b

Level: Difficult

Page 113

Reference: Learning Objective 1 / Trade Agreements

Rationale: Many positive predictions regarding what would result from NAFTA have materialized, including the increase in U.S. exports to Mexico.

140. Bridget wants to buy some English tea priced at 10 pounds from an online seller. At an exchange rate of 1.5 dollars to the pound, she will pay _____ for the tea.

a. $15.00

b. $12.50

c. $11.50

d. $8.50

Answer: a

Level: Difficult

Page 119

Reference: Learning Objective 2 / Exchange Rates

Rationale: $1.50 X 10 pounds = $15.00.

141. As the value of a country’s currency falls, its balance of trade should _____.

a. improve 

b. decline

c. remain the same

d. either increase or decrease

Answer: a

Level: Difficult

Page 119

Reference: Learning Objective 2 / Exchange Rates

Rationale: As the value of a nation’s currency falls, its balance of trade should improve because domestic companies should experience a boost in exports.

142. As the value of a country’s currency rises, _____.

a. domestic companies will have a harder time selling their products in foreign markets

b. foreign companies will find it easier to sell their products in local markets

c. imports and exports will remain relatively constant

d. A and B

Answer: d

Level: Difficult

Page 119

Reference: Learning Objective 2 / Exchange Rates

Rationale: As the value of a country’s currency rises, the cost of that country’s products will also increase.

143. The United States has comparative advantages in _____.

a. the computer industry

b. farming

c. electronics manufacturing

d. A and B

Answer: d

Level: Difficult

Page 120

Reference: Learning Objective 2 / Forms of Competitive Advantage

Rationale: The U.S. has comparative advantages in computer technology, because of technological sophistication, and in farming, because of fertile land and temperate climate.

144. American _____ can be profitably exported to many other countries.

a. umbrellas

b. apparel

c. popular culture

d. snowmobiles

Answer: b

Level: Difficult

Page 120, 123

Reference: Learning Objective 2 / Forms of Competitive Advantage

Rationale: Pop culture travels well; it includes TV shows, fashions, movies and music.

145. A theory of national competitive advantage is an accepted model of _____.

a. why nations engage in international trade

b. outlining a company’s greatest market strengths
c. how companies engage in global trade
d. when a nation should impose tariffs and quotas
Answer: a

Level: Difficult

Page 120

Reference: Learning Objective 2 / Forms of Competitive Advantage

Rationale: Based on the presence of the four conditions that create the “national diamond,” countries are likely to engage in global business.

146. What is a difference between an international firm and a multinational firm?

a. Multinational firms design, produce, and market products in many nations.

b. Multinational firms are basically domestic companies with international operations.
c. International firms design, produce, and market products in many nations. 
d. The main concern of international firms is their foreign markets.
Answer: a

Level: Difficult

Page 124

Reference: Learning Objective 3 / Levels of International Involvement

Rationale: International firms conduct much of their business abroad and may maintain overseas manufacturing facilities; multinational firms design, produce, and market product in many nations.

147. Which of the following requires that all foreign firms investing there have local partners?

a. United States

b. Mexico

c. Ireland

d. Sweden

Answer: b

Level: Difficult

Page 126

Reference: Learning Objective 3 / International Organization Structures

Rationale: Laws make alliances the only way to do international business in Mexico, India, and China.

148. Which of the following is not a trade barrier (a form of protectionism)?

a. Local content requirements

b. Foreign direct investment (FDI)

c. Embargoes

d. Subsidies

Answer: b

Level: Difficult

Page 126, 128-129

Reference: Learning Objective 4 / Legal and Political Differences

Rationale: Foreign direct investment (FDI) involves buying or establishing tangible assets in another country.

149. A subsidy essentially _____ the prices of _____ rather than ______ the prices of _____.

a. lowers; foreign goods; raise; domestic

b. raises; domestic goods; lower; foreign goods

c. lowers; domestic goods; raise; foreign goods

d. none of the above

Answer: c

Level: Difficult

Page 129

Reference: Learning Objective 4 / Legal and Political Differences

Rationale: A subsidy is a government payment to help a domestic business compete with foreign firms; the subsidy lowers the prices of domestic goods rather than raises the prices of foreign goods.

150. Critics of protectionism may argue that the practice _____.

a. reduces prices

b. reduces competition

c. creates friendships between nations

d. creates price stability

Answer: b

Level: Difficult

Page 130

Reference: Learning Objective 4 / Legal and Political Differences

Rationale: Protectionism is the practice of protecting domestic business at the expense of free market competition.

Short Answer Questions

151. Other than income level, what other characteristics define low-income countries?

Possible Answer: Such countries suffer from low literacy rates, weak infrastructures, and unstable governments. Cambodia, Ethiopia, and Haiti are included in this category. 

Level: Easy
Page 110

Reference: Learning Objective 1 / The Major World Marketplaces

152. What countries comprise NAFTA?

Possible Answer: NAFTA, the North American Free Trade Agreement, is a trade agreement between Mexico, the United States, and Canada.

Level: Easy

Page 112

Reference: Learning Objective 1 / Trade Agreements

153. How has NAFTA influenced international trade?

Possible Answer: NAFTA seeks to remove virtually all barriers to trade among the three countries. As a result of NAFTA, direct foreign investment in these three countries has increased; U.S. exports to Mexico and Canada have increased; U.S. imports from Mexico and Canada have increased; and new jobs have been created. 

Level: Easy
Page 112-113

Reference: Learning Objective 1 / Trade Agreements

154. Explain absolute advantage.

Possible Answer: An absolute advantage exists when a country can produce something that is cheaper and/or of higher quality than any other country. 

Level: Easy
Page 120

Reference: Learning Objective 2 / Forms of Competitive Advantage

155. Explain how products that are successful in one country can be useless in another.

Possible Answer: Many products (such as snowmobiles) are successful in one country but can be useless in another.

Level: Easy

Page 122-123

Reference: Learning Objective 3 / Going International

156. What are local content laws?

Possible Answer: Local content laws are requirements that products sold in a country be at least partly made there. 

Level: Easy
Page 130

Reference: Learning Objective 4 / Legal and Political Differences

157. What are the three goals of the World Trade Organization (WTO)?

Possible Answer: The three goals are 1) to encourage members to adopt fair trade practices; 2) to reduce trade barriers; and 3) to establish fair procedures for resolving disputes among members. 

Level: Moderate
Page 114

Reference: Learning Objective 1 / Trade Agreements

158. What is a nation’s balance of trade? What is the difference between a trade surplus and a trade deficit?

Possible Answer: A nation’s balance of trade is the total economic value of all products that it exports minus the total economic value of all products that it imports. A trade surplus exists when a positive balance of trade occurs. A trade deficit exits when a negative balance of trade occurs. 

Level: Moderate
Page 115-116

Reference: Learning Objective 2 / Import-Export Balances

159. What is the difference between balance of trade and balance of payments?

Possible Answer: Balance of trade is the difference between the economic value of exports and the economic value of imports. Balance of payments refers to the flow of money into and out of a country, mostly attributed to the country’s balance of trade. 

Level: Moderate
Page 115-117

Reference: Learning Objective 2 / Import-Export Balances

160. In assessing a country’s national competitive advantage, what is meant by factor conditions?

Possible Answer: Factors conditions, also known as factors of production, include labor, capital, materials, and entrepreneurs. 

Level: Moderate
Page 120

Reference: Learning Objective 2 / Forms of Competitive Advantage
161. What are three levels of involvement available for a firm that decides to conduct business internationally?

Possible Answer: The firm may act as an exporter or importer, organize as an international firm, or operate as a multinational firm. 

Level: Moderate
Page 124

Reference: Learning Objective 3 / Levels of International Involvement

162. What are some advantages facing businesses that engage in licensing?

Possible Answer: Businesses engaging in licensing may benefit from cheaper resources in the country where the licensing takes place. In addition, the local people may know best the local market, therefore these businesses can benefit from the expertise of local employees. Businesses can also reduce transportation costs by allowing the production of their products in geographic regions closest to larger markets. 

Level: Moderate

Page 125

Reference: Learning Objective 3 / International Organization Structures 

163. Explain how a firm may have more direct control with a branch office than it does over agents or license holders.

Possible Answer: In a branch office, a firm sends its own managers overseas where there is more visible public presence. 

Level: Moderate
Page 126

Reference: Learning Objective 3 / International Organization Structures

164. Why have the number of strategic alliances among major companies increased significantly over the last decade?

Possible Answer: Many companies have realized that sharing resources with other companies can enhance competitiveness and profitability.

Level: Moderate

Page 126

Reference: Learning Objective 3 / International Organization Structures

165. What are some advantages facing businesses that engage in strategic alliances?

Possible Answer: Such businesses benefit from the knowledge and expertise of foreign partners. In addition, these businesses can share the resources of their partners. 

Level: Moderate
Page 126

Reference: Learning Objective 3 / International Organization Structures

166. What is the difference between a quota and a tariff?

Possible Answer: A quota restricts the number of products of a certain type that can be imported into a country, whereas a tariff is a tax on imported products. 

Level: Moderate
Page 128-129

Reference: Learning Objective 4 / Legal and Political Differences

167. What is a cartel? Use an example to clarify your response.

Possible Answer: A cartel is an association of producers that controls both supply and prices. OPEC (Organization of Petroleum Exporting Countries) is an example of a cartel. 

Level: Moderate
Page 130

Reference: Learning Objective 4 / Legal and Political Differences

168. Explain a floating exchange rate.

Possible Answer: A floating exchange rate allows the value of one country’s currency relative to the value of another country’s currency to fluctuate according to market conditions.

Level: Difficult

Page 119

Reference: Learning Objective 2 / Exchange Rates

169. Why should companies conducting international operations be concerned about exchange rate fluctuations?

Possible Answer: Changes in exchange rates affect overseas demand for their products and can be a major factor in international competition. Exchange rate fluctuations can also affect the companies’ profitability. 

Level: Difficult
Page 119

Reference: Learning Objective 2 / Exchange Rates

170. Explain why fluctuations in exchange rates have much influence on the balance of trade.

Possible Answer: When the value of a country’s currency rises, companies based there find it harder to export products to foreign markets and easier for foreign companies to enter local markets.

Level: Difficult
Page 119

Reference: Learning Objective 2 / Exchange Rates

171. Discuss the differences between absolute advantage and comparative advantage.

Possible Answer: An absolute advantage exists when a country can produce something more cheaply and/or of higher quality than any other country. Absolute advantages are relatively rare. A country has comparative advantage in goods that it can produce more efficiently than other goods. 

Level: Difficult
Page 120

Reference: Learning Objective 2 / Forms of Competitive Advantage

172. Why might a company decide not to conduct business internationally?

Possible Answer: There are many reasons that a company might decide not to conduct business internationally. The product the company produces, storage, transportation costs, and the business climate of a country are a few concerns that affect the decision to go international. 

Level: Difficult
Page 119-120

Reference: Learning Objective 3 / Going International 

173. What are the four components of national competitive advantage.

Possible Answer: The four components of national competitive advantage are factor conditions; demand conditions; related and supporting industries; and strategies, structures, and rivalries. 

Level: Difficult

Page 120-121

Reference: Learning Objective 2 / Forms of Competitive Advantage

174. What different kinds of international organizational strategies could a firm use in conducting international business? 

Possible Answer: International organizational strategies may include independent agents, licensing arrangements, branch offices, strategic alliances, and direct investment. 

Level: Difficult
Page 125

Reference: Learning Objective 3 / International Organization Structures

175. What is dumping? Under U.S. antidumping legislation, what conditions must be met to prove that dumping is being practiced?

Possible Answer: Dumping is the practice of selling a product abroad for less than the cost of production. U.S. antidumping legislation sets two conditions for determining that dumping is being practiced: 1) Products are being priced at “less than fair value” and 2) The result unfairly harms a domestic industry.

Level: Difficult
Page 130

Reference: Learning Objective 4 / Legal and Political Differences

Essay Questions

176. Describe the relationship of exports and imports in a country’s balance of trade and its balance of payments.

Possible Answer: Exports are products created domestically and then transported and sold abroad, whereas imports are products created abroad and then transported and sold domestically. A nation’s balance of trade is determined through the relationship of its exports to its imports. A positive balance of trade, also known as a trade surplus, occurs when a country exports more than it imports. A negative balance of trade, or a trade deficit, occurs when a country imports more than it exports. A country’s balance of payments results from the inflow and outflow of money into and out of the country as a result of the country’s trade balance. The United States enjoys a trade surplus with the Netherlands, Australia, Egypt, and Belgium-Luxembourg; the United States suffers from a trade deficit with Japan, China, Canada, Germany, Mexico, and Taiwan.

Level: Moderate
Page 109, 115-117

Reference: Learning Objective 2 / Import-Export Balances

177. Explain absolute advantage and comparative advantage.

Possible Answer: A country benefits from an absolute advantage when its main export is in a monopolistic-type situation, meaning that no other country can produce that product as cheaply and with high quality. Diamonds produced in South Africa, coffee from Colombia, and oil from Saudi Arabia are examples of absolute advantage. A country enjoys a comparative advantage when no other country can produce a particular product as efficiently. Though many countries around the globe can grow corn, the United States enjoys a comparative advantage in the production of corn of no other country can grow corn as efficiently as the United States.

Level: Moderate

Page 120

Reference: Learning Objective 2 / Forms of Competitive Advantage

178. Explain why foreign direct investment is often the riskiest, most complex, and most involved of the various types of international involvement.

Possible Answer: With exporting, a company is merely producing in this country and shipping abroad. With licensing, a company is giving another company in another country the right to produce its product; after the foreign company begins producing, the U.S. company is unattached in the actual production processes. With a strategic alliance, companies are working together toward a common purpose, perhaps working to create a new product or improve a type of technology. Foreign direct investment, however, presents different types of challenges to companies. Technologies or access to technologies vary from country to country. Exchange rate fluctuations and economic differences between countries can alter trade patterns. Sociocultural differences in people, including religion, tastes, preferences, buying patterns, perceptions of time, perceptions of space, and cultural communication styles, can present roadblocks for businesses engaging in foreign direct investment. Finally, political and legal differences between countries can alter the methods with which business is conducted as well as impact what are acceptable and unacceptable practices.
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179. In what ways has the North American marketplace benefited from NAFTA?

Possible Answer: NAFTA set out to create a more active North American market. Since the first trade barriers came down in 1994, the North American marketplace has benefited in numerous ways. First, direct foreign investment increased substantially, not only by companies from the United States, Canada, and Mexico but also by many foreign companies that were attracted to North America. U.S. exports to Mexico have increased significantly; trade with Canada has also increased significantly. U.S. imports from Mexico and Canada rose even faster than rates in the opposite direction. Finally, NAFTA has created several hundred thousand new jobs; the flood of U.S. jobs lost to Mexico predicted by NAFTA critics, especially labor unions, has not occurred. 
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180. Might operating in a strategic alliance be considered more risky, more involved, and more complex than operating under a licensing arrangement? Explain.

Possible Answer: With a licensing arrangement, a firm gives foreign entities exclusive rights to manufacture or market their products in that market. With such arrangements, the licensing firm is not often present to monitor that production and quality control standards are consistently being met. Such arrangements, which include franchising, might benefit the licensing firm in that the local people likely know the local market best; therefore, a licensing arrangement would allow the licensing firm to tap into a foreign market via the use of employees who share cultural similarities with that particular market. In a strategic alliance, a firm comes together in a form of a partnership with a firm in a country in which it wants to do business. Both sides agree to invest resources and capital into a new business or toward a common purpose. This type of partnership represents a type of “marriage” between two firms; both sides are present while major decisions are being made and while both sides work toward their common purpose. 
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BOXED FEATURES

Entrepreneurship and New Ventures: Rolling in the Worldwide Dough

181. What factors led Lionel Poilane to believe that his breads and pastries could be marketed worldwide?

Possible Answer: Most bakers would likely have believed that their breads and pastries would get stale long before arriving at international destinations; however, this entrepreneur refused to accept geographic limitations as an excuse not to expand. His traditional baking techniques allowed his old-style dark bread to maintain its quality long enough to benefit consumers abroad. Once Poilane’s experiment proved to be a success, he began his shipments to more than 20 countries around the world. 
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182. What element from the legal environment stymied Lionel Poilane’s expansion of goods production in Japan?

Possible Answer: Local ordinances in Japan prohibited wood-burning ovens, which are a critical part of Poilane’s production process. 
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183. Why might Lionel Poilane have preferred exporting his specialty products around the world rather than involving himself in a licensing arrangement?

Possible Answer: Exporting allows Poilane to be in control of his production and quality control processes. A licensing arrangement would grant another company the right to produce Poilane’s products, which would take the production process away from Poilane; in both cases, Poilane loses control of what he does best. 
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184. What risks may Poilane face if he decided to focus on other types of product offerings rather than on just the breads and pastries?

Possible Answer: Poilane is currently offering those types of products that his business produces best. Taking attention away from the breads and pastries, which have led to Poilane’s tremendous success, might disturb consumers’ perceptions behind the “specialty” image of the products. 
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BOXED FEATURES
Say What You Mean: Playing by the Rules of Engagement

185. In considering “playing by the rules” in foreign direct investment, what are some sociocultural factors that might affect “how things are done” abroad?

Possible Answer: Cultures vary according to religion, language, communication styles, perceptions of time and space, consumer preferences, consumption patterns, and even body language interpretations. Any of these sociocultural factors might impact “how things are done” abroad. 

Level: Easy
Page 127

Reference: Learning Objective 3/ Say What You Mean: Playing by the Rules of Engagement

186. One American manager of a branch office in Stockholm, Sweden, stated, “We are living in a shrinking, borderless world.” What do you think he meant?

Possible Answer: More trade agreements have brought many countries together by eliminating international obstacles, such as tariffs, quotas and other restrictions. Technological advancements, especially in communication and transportation, allow people in even remote corners of the globe to integrate their daily activities into the global marketplace. Product tastes and preferences in many areas, such as the area of American popular culture, are meshing. People all over the world are sharing many commonalities. 
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187. In gauging international demand, a company should consider whether products need to be adapted to the international market. Explain.

Possible Answer: Foreign demand for a company’s product may be greater than, the same as, or weaker than domestic demand. In addition, some products that have been successful in the domestic North American market for years may just now be entering developing markets. Numerous examples of product adaptations abound. McDonald’s, for example, has had to alter its menu when entering many countries. Some manufacturers have had to change product names and package colors. 
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188. Some elements from the political-legal environment can affect the sociocultural environment of a country. Explain.

Possible Answer: Pro- or anti-business sentiment in government can influence business activity in a foreign country or between countries. Further, local content laws and certain business practice laws can give an impression of superiority in the global marketplace. Shying away from participation in cartels, which are illegal under American law, may give the impression that the country lacks team orientation, for example. 
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Short Case Scenario

Nokia Corporation, headquartered in Finland, is a world leader in the cell phone industry. Because much of Finland is heavily forested and sparsely populated, it is difficult and expensive to develop a land-based communication network. Nokia created Europe’s first digital telephone network in 1982. Today, Nokia has 27 percent of the world market in cell phones, well ahead of their competition.

189. Might telephone technology be considered an absolute advantage in Finland? Explain.

Possible Answer: An absolute advantage exists when a country can produce something that is cheaper and/or of higher quality than any other country. That Nokia has 27 percent of the world market in cell phones, well ahead of their competition, may indicate an absolute advantage. However, absolute advantages are always relative. 
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190. Under what circumstances would telephone technology be considered a comparative advantage in Finland?

Possible Answer: A country enjoys a comparative advantage when no other country can produce something as efficiently. If not other country could produce cell phones and cell phone technology as efficiently as Finland, then Finland enjoys a comparative advantage.
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191. When is a corporation such as Nokia defined as an international firm and when is it defined as a multinational firm?

Possible Answer: International firms conduct business abroad with most focus on business being in the home country, whereas multinational firms design, produce, and market products in many nations.
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192. Why might Nokia managers have preferred merely exporting over forming a licensing arrangement?

Possible Answer: With a licensing arrangement, Nokia would have granted exclusive rights to another company in another country to produce its product. Nokia would have lost some control of the production process and of product quality. 
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193. What risks might Nokia face if engaging in a licensing arrangement for the production of phones?

Possible Answer: In a licensing arrangement, Nokia would not be present during the production process to be able to gauge the production process or to control quality. 
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194. Nokia is a dominant market player in its industry. What are some risks that Nokia might face if it engages in a strategic alliance with a foreign company?

Possible Answer: If it engages in a strategic alliance to either produce a superior or different type of phone or to improve communication technology, Nokia may run the risk of having to share trade secrets as well as alter the company’s image in the market.
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195. How might sociocultural differences affect sales of Nokia phones outside Finland?

Possible Answer: Any firm planning to conduct business in another country must understand the sociocultural differences between the host country and the home country. One of the most obvious barriers is language. The packaging, instructions, and menu must be translated into the language of users in other countries. Nokia must also consider cultural differences in cell phone usage in each country to which they wish to export. For example, is it culturally acceptable to speak on a cell phone while walking down the street? Is face-to-face communication preferred over phone communication? 
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196. How might the imposition of a quota on cell phones impact Nokia’s exportation of cell phones to the United States?

Possible Answer: A quota is a restriction on the number of products of a given type that can be imported into a country. If the United States were to impose a quota on the number of cell phones, Nokia might find that they were limited in the number of phones they could ship to the United States. By reducing supply, prices for their phones would tend to increase. 
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197. Under what possible condition(s) might a country impose low or no protectionist tariffs on Nokia imports?

Possible Answer: If no company in that country can produce a similar product or a product of equal quality, the people in that country may rely heavily on the imports. In this case, the tariff may be low. 
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198. How might the imposition of a tariff on cell phones impact Nokia’s exportation of cell phones to the United States?

Possible Answer: A tariff is a tax on imported products. Therefore, the imposition of a tariff on cell phones would result in increased prices on Nokia products sold in the United States. If there were not a substitute brand on comparable quality, however, demand for Nokia’s phones in the United States would likely not decrease much. 
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199. Other than a quota, embargo, or tariff, what legal barriers might the United States use to discourage the importation of cell phones?

Possible Answer: Congress might consider a subsidy program for domestic manufacturers or enact local content laws. If the U.S. government were to subsidize domestically produced cell phones, the price would go down. With lower prices, the sales of domestically produced cell phones would likely increase and sales of foreign produced cell phones would likely decrease. Local content laws require that products sold in a particular country be at least partly made there. Nokia could meet this requirement by taking on a domestic partner. Yet, Nokia will experience higher costs by being required to buy components of their phones from U.S. firms or by setting up a production facility in the United States to complete assembly. 
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200. The Trade Agreements Act of 1979 forbids “dumping.” Because of their low prices, is it possible that Nokia could be accused of “dumping” their phones in the United States? What two conditions must be met to prove “dumping” under this act?

Possible Answer: “Dumping” is the practice of selling a product abroad for less than the cost of production. To prove dumping, products must be priced at “less than fair value” and the “dumping” must have resulted in harm to the domestic industry. 
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